Dékiiman No. P10-F16

Yayin Tarihi 10.06.2015 M.K. 501-01
Revizyon No. 0

Revizyon Tarihi 13.07.2018

™ MONTAJ KILAVUZU

fsswaw INSTRUCTIONS éema
N YS 104

7N
=5 AR 10
) ,; PR %§

i Gy N
v&/;%"'a

(s
W
R 5
LD
A ~S— ;

Hazrlayan : Mustafa BADOGLU
Onaylayan : Ezgi YELEKOGLU




151.02.20.00485
x4

x31

x13

151.01.99.10106

151.01.06.10026

151.01.06.13111

CE -

151.01.11.01109

151.01.11.01110
X1

151.02.20.00495
x3

151.01.06.13049
x1

151.01.06.13033
X1

151.01.99.10411

IEEH - |

[ °|

D RO ORI X

Qe oo o eDs s o <sOse oo ok

S - | DI o | PR c | EEEE - | EZE < |

151.01.06.13021
X6

151.02.21.00126
x14

151.01.11.01311
X1

151.01.11.01313
X2

151.01.31.00017
X1

151.01.11.01574
x1

151.01.11.01575

151.01.11.01576
x1

151.01.11.01577
x1

151.01.11.01578
X1

151.01.11.01579
x1

KA - | KT |

151.01.11.01580




YS 104

Ty

e

151.01.11.01581

151.01.11.01582
X2

151.01.11.01583

X1

151.01.11.01584
X2

151.01.11.01585
X1

ISP < | ESTERE - |

151.01.11.01586

RGEEN < | RISPEN - | RGEEE - | ESTIE - |

N

151.01.11.01587 151.01.11.01588 151.01.11.01589 151.01.11.01590 150.08.08.00024 150.08.04.00077
151.02.21.00011 151.02.21.00012 151.02.21.00013 151.01.11.01554 150.08.02.00008 150.08.08.00121

)

v

150.08.02.00008 150.09.01.00012 150.09.02.00002 150.08.01.00032 150.08.02.00005 150.08.02.00006
150.08.02.00006 150.08.02.00001 150.08.05.00008 151.02.21.00128 151.02.21.00127 150.09.02.00017

I

150.09.01.00008

151.02.21.00052

151.02.21.00055

I

x4

150.08.01.00021

RN

N




YS 104

TIP 10

TIP 10

TIP 5

1I
—
(a8 coa? ®e 20000 o% ©eQos o .a0=
_” /0000000000000 0000000S
©“00000000000000000000 *
®», 00000000000000000000 9
00000000000000000000
©+00000000000000000000 *
*00000000000000000000 *
9000000000000000000009
100000000000000000000
00000000000000000000
s 00000000000000000000 <
< 000000000000Q0000000
,00000000000000000000 ,
.0000000000000000Q0000 ,
000000000000000000000 g,
<00000000000000000000 «
©+00000000000000000000 «
,000000000000000
6’ 000000000000Q00
. 000000000000Q00
~ X000000000000000
?ctc 0o o o o e Qe
[a W a? ®e 060000 o% osQo
— “2/000000000000000
= “000000000000000
®, 000000000000000
000000000000000
©+000000000000000
©000000000000Q00
©000000000000000
1000000000000000
000000000000Q00
+ 000000000000Q0000000 <4

> 00000000000000000000 *
,00000000000000000000
+000000000000Q00000000,

TIP 1

TIP 2

©0000000000000000000000]  \@)
©+00000000000000000000 »
©+00000000000000000000 « o
.000000000000Q00000000, =
00000000000000000000% [
00000000000000000000 ¢
©0000000000000000000%
° o s°0e e oo °eQo e s o ) 4
o ®c 00000 o ©s0os o of Toe o ©00o o % ooOoo o o\
$2000000000000000000005F=00000000000000000000%F
©*00000000000000000000 *[*00000000000000000000*
6, 00000000000000000000 9 00O000000000000000000 ¢
00000000000000000000 °[°00000000000000000000
+000000000000Q00000000:1:00000000000000000000 «
$00000000000000000000*1*00000000000000000000 ¢
©00000000000000000000°97900000000000000000000°9
100000000000000000000 :[:00000000000000000000 ;
00000000000000000000 °$°00000000000000000000

0 0000000000000000000O0 e,
+ 0000000000000 000000O0 °
0000000000000 0000000

bo” 000000000000 0000000O0 -
©0000000000000000000O0 °

O

% oy

© 0o o % 00000

00 °o

bo

O

0000000000000 0

7 + 0000000000000

+00000000000O0Q

[a ,0000000000000

—_— © OO0O0000D0000O0

T WOOOOOOOOOOOOO

., 0000000000000

\/»a. W® 200 o0 o

Po "o 00000 6% 00000 of .aa(.\o? %o 00000 o0 o

0000000000000 0000000L$,0000000000000

0000000000000 0000000°*|* 0000000000000

0000000000000 0000000 oo OOOOOO0O0OO000Q

00000000000 0O0000000 000000000000 Q

0000000000000 0000000°*T* 0000000000000

00000000000000000000°]° 0000000000000

00000000000000000000°9T90000000000000

00000000000000000000“ “OOOOOOOOOOOOO

0000000000000 0000000 0000000000000

0000000000000 00000004.000000000000Q

00000000000 0AQ00O000000+1-0000000OO0O0O0Q
0000000000000 0000000 4, 0000000000000 N

0000000000000 0O00QCQ00,|, 0000000000000
000000000000Q00000000[Hlp000000000000Q P

0000000000000 0000000.|.000000000000Q
000000O0ODOOO0O0DO0O0O0O000004:0000000DOOO0OO L
00000000000 000000000,|, 0000000000000 T
0000000000000 0000O000 os OOOOOOOOO00O000C !
0000000000000 0000000:].0000000000000 A

OOOOOOOOOOOOOOOOOOOOA oﬂ.OOOOOOOOOOOOO

Yo o ©00e0 o0 00000 o o) \gBo o 00000 o0 oo

TIP 8

TIP 8

TIP 8

4/13







éeme'zf YS 104

M8x80

TOPRAK ZEMIN
SOIL FLOOR

x14

TOPRAK ZEMIN
SOIL FLOOR

-BETON EBATLARI PROJEYE GORE DEGISKENDIR
-CONCRETE DIMENSIONS CHANGE ACCORDING TO PRODUCTS

(LS

S
X3
BETON ZEMIN —~——
CONCRETE FLOOR 5
KUM / SAND,
S
7 G 8 4 U§ b\\k{ )
S C b
NjEawyi 4N B,
CONCRETE} OQ < é
T o =
2 bt
=

l< o)
RAh, diisme yiiksekligine gbre degiskendir. - 50cm o
Rh is determined according to fall height.




YS 104

7/13




YS 104

I

\
MR« | e®

M8x35

<
<

M8xS

M10XR <

M8x30

M8-S

M10-R

[4)

8/13




9/13




7

N A=
,/" /

N -

v
x4

M10-S <«

M10-R

A

M10x35 +——e €




YS 104

M10-R

M10x45

S IO

G~ »ll\)"d.\uli.“‘nl

11/13




YS 104

1180

1505

o
o.

o,
3
o

o
o.

of

1= Eaaasasased




éem&f YS 104

MONTAJ TALIMATLARI

* Urin kurulumunda montaj kilavuzu kullanimasi/riayet
edilmesi tavsiye edilir.

*Kurulum kalifiye/yefkili personel tarafindan yapiimalidr.
*Kurulum sirasinda ara veriimek isteniyor ise montaj alani
gUvenlik seridi ile ¢cevrilmelidir.

*Montaj kilavuzuna gére eksik yada fazla pargaile
karsilasilirise Uretici firmaya bildirilmesi gerekir.

KULLANIM TALIMATLARI

«Ur0n +3 yasindan biyUk kullanicilar icin ve ayni anda 33
kisi icin tasarlanmistir.

eKullanicilar ebeveyn gozetiminde olmalidir.

*Uron TSEEN 1176-1, 1176- 3 ve 1176-7 € uygun olarak
tasarlanip, Uretilmektedir.

eZemin kaplamasi TSE EN 1177-1 e uygun olmalidir.

«ip firmanma vb. istasyonlara kask ile cikmak yasaktir.
Ur0n Ozerinde izin verilen ve belirtilen fonksiyonlar / rotalar
disinda hareket etmek tehlikeli ve yasaktir.

BAKIM TALIMATLAR]

GUNLUK MUAYENE (GOZLE MUAYENE)

»Urinin ginlUk gdzle muayenesi TSE 1176-7

Madde 6.1 a. ' ye uygun olarak yapilmaktadir.

*Urintn / Kompleksin temizligi, ayak basma ve el tutma
elemanlarinin durumu

¢ Gevsek taneli zemin kaplamasi var ise (kum, cakil, malc
vb.) beton bloklar Uzerindeki vaziyeti

90 GUNLUK MUAYENE (iSLETME MUAYENESI)

*Urinun isletme muayenesi TSE 1176-7

Madde 6.1 b." ye uygun olarak yapilmaktadir.

e Dinamik/Hareketli elemanlarnn (dogrusal veya radyal)
azami 90 gUnlUk periyodiarda yaglanmasi (isletmeci
tarafindan kullanim yogunluguna gére siklastinlabilir)

e Moduler baglanti elemanlari ile sabitlenen parcalarin
rijitligi.

*YUzey kaplamalarinda asinma, solma kontrolu

Statik olmayan bir elemana sahip Grin var ise ve
gerginlik isteniyor ise (ip trmanmalar vb.) Grin Uzerindeki
gerdirmeler ile ayarlanmasi

Statik olmayan bir elemana sahip Grin var ise ve sehim
isteniyor ise, (teleferik, zip line vb.) UrGn Uzerindeki
gerdirmeler ile ayarlanmasi

YILLIK MUAYENE (ANA MUAYENE)

«Urinun Yillk ana muayenesi TSE 1176-7 madde 6.1 c.'ye
uynun olarak yapilmaktadir.

¢Dinamik istasyonlarda kullanilan rulman, yataklama vb.
elemanlarin ve tutma, basma vb. fonksiyonlara sahip
istasyonlarin baglanti elemanlarinin rijitsizligine karsin
degisimi

¢ Ankraj detaylarinin (beton, dibel vb.), yatay ve dikey
tastyicilarin (kolon, kiris) rijitligi

«Zemin kaplama elemanindaki asinmalar (isletmeci
tarafindan kullanim yogunluguna gére siklastinlabilir)

ASSEMBLY INSTRUCTIONS

* Assembly instructions guide must be used and the
assembly should be made according to it.

*Products must be assembled by qualified/authorized
staff.

¢|If a break is needed through the assembly, the site must
be confined with safety strips.

«|f there are extra or missing pieces of the product,
provider company should be contacted about the
sifuation.

USAGE INSTRUCTIONS

*The product is designed for users aged 3+ and 33 people
per usage.

*Usage must be in parents custody.

*The product is designed and manufactured according
toTSEEN 1176-1,1176-3 and 1176-7

*Floor covering must be made according to TSE EN 1177-1
«|t's forbbiden to use climbing accesories while wearing a
helmet.

*|t's dangerous and forbbiden to use the product outside
of its original usage or functions.

MAINTENANCE INSTRUCTIONS

DAILY INSPECTION (VISUAL EXAMINATION)

*Daily inspection of the product is made according to TSE
1176-7 Clause 6.1a.

*Products and area’s cleanliness and handles’ situation.
«|f loose surface covering is used, the concrete

blocks’ situtation.

OPERATIONAL INSPECTION (90 DAY PERIOD)

*Operational inspection of the product is made according
to TSE 1176-7 Clause 6.1b.

*Dynamic products (linear or radial usage) should be
greased in 90 day periods. (the periods can be shortened
according to the manufacturer’s advice)

*Rigidity of modular connectors and fasteners.

eInspection on floor coverings fo check wear and fade

«|f there is an equipment that needs tension ( like a
climbing equipment) it should be controlled and stretched
appropriately.

«|f there is an equipment that needs sag ( like a rope
bridge) it should be controlled and stretched appropriately.

ANNUAL MAIN INSPECTION

* Annual inspection of the product is made according fo
TSE 1176-7 Clause 6.1c.

*The situation and ridigity of all bearings, bearing

suports efc.

*Rigidity and functionality of products that have fucntions
like gripping, stepping etc.

*Rigidity of anchorage equipments (concrete, fixing plugs
etc.), vertical and horizontal supports.

*Wear on floor coveringsi (the periods can be shortened
according to the manufacturer’s advice)




